a(0 @) (raqd)

Ratio

Ratio

SICEWATL

owp./p,)

=
<

1072 i T
N E R

(0 W L L L

0 1 2 3
TP n (PCA to beamline)

a(d cot(d))

Ratio

1072

1074

15f----

iy

AN BETEH

|
w

0 1 2 3
TP n (PCA to beamline)

—=— DQMstep3_SoftQCD_CKF
—— DQMstep3_SoftQCD_default
—— DQMstep3_SoftQCD_defaultNEWT2

[EEN
i

-

(3% R L L

=

-1

0 1 2 3
TP n (PCA to beamline)

JEny
S
[

i

(3% R L L L

2 3
TP n (PCA to beamline)

oo a,) (cm)

z

[EEN
i

I ff I

[3%) R L L

-1

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


